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Lesson 37

Objective: Transition from four partial products to the standard algorithm
for two-digit by two-digit multiplication.

Suggested Lesson Structure
B Fluency Practice (10 minutes) -

B Application Problem (5 minutes)
Concept Development (35 minutes)
B Student Debrief (10 minutes)

Total Time (60 minutes)
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Transition from four partial products to the standard
algorithm for two-digit by two-digit multiplication.
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x = Draw a unit fraction

Decompose 90 and 180



X = Divide

Divide 3168/9 in three different ways.

Place Value Disks
Area model

Standard algorithm



1 Application Problem

Sylvie’s teacher challenged the class to draw an area
model to represent the expression 24 x 56 and then
solve using partial products. Sylvie solved the
expression as seen to the right. Is her answer
correct. Why or why not?
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DConnecting to standard algorithm

Draw an area model to solve for the product of 26 x 35.
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DConnecting area model to standard.
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X43 - 67 x 3= 201
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2 : 680 — 67x 40= 2,680
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DSoIve using partial products, check
with area model.
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Problem Set

12345 8 Problem Set

A STORY OF UNITS Lesson 37 Problem Set m

Name Date

1. Solve 14 x 12 using 4 partial products and 2 partial products. Remember to think in terms of units as you
solve. Write an expression to find the area of each smaller rectangle in the area model.

12 12
x 14 x 14
10 §. re— 12 =
4 ones x 2 ones 4 ones x 12 ones
4 4

4 ones x 1 ten
1 ten x 12 ones
10 1 ten x 2 ones 10

1tenx1ten




Debrief

* Did you record the 15 or 57 as the width of the
rectangle in Problem 3? Does it matter the
order? Which number as the width is easiest for

you to solve the rest of the problem? Explain.

* |magine the area models for Problems 4(c) and
(d). Notice how the rectangle in Problem 4(d) is

half as wide and double the length of the
rectangle in Problem 4(c). What might the areas
look like? Why does that result in the same

product?

* How does the shading on the area models help
you understand the movement from four partial

products to two partial products?

*  Why would we want to represent the area model
using two partial products instead of four?

* How did the Application Problem connect to
today’s lesson?



Exit Ticket

A STORY OF UNITS Lesson 37 m

Exit Ticket {3 minutes)

After the Student Debrief, instruct students to complete the Exit Ticket. A review of their work will help with

assessing students’ understanding of the concepts that were presented in today’s lesson and planning more
effectively for future lessons. The questions may be read aloud to the students.



